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1 T B4R TR RAT —4H MR 2 FAAE NI ERAERE | R g 120 27000
2 I A LI T 1 AN o3 BRI Th B 30 20000
3 )48 TR VA KL 1 ARFHELR A Hiak 30 20000
4 T TR R B 1 AN 53 BB SRR N £A Hrak 30 20000
5 T HL)IER T H —4 EEH 1 RO BN i 220 20000
6 T EAmp} T8 [y 41 G 2 ARFHELR AR Hiak 30 27000
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8 TENE | BN —4H SRR 4 HoA it 2% BN Hiak 115 41000
9 SIERlIE: FAUAVE A —4 AR 5 Fopt it 37 BEV N g 115 48000
10 T LR aEn) - B L 6 oAt 21 7 +A Bpc 120 48000
11 HENE | EAA =4 R 4 HoA 2% BN Hrak 120 41000
12 Rt KBAS R HE 3 FAANE BB ERAERE | R B 150 34000
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14 B EE O FA JiRF 7 Fopl it 37 A g 130 48000
15 B 2 HEAY i A 2 £ 5 HoA it 2% BN Hrak 130 48000
16 Rt EV L) gk L 2H BIfIG 5 Fop it 37 A g 160 48000
17 B EV | LSRRk TS 6 HAbBE £A Hrak 160 48000
18 B EV | gk L1 261 W = 7 ARFHELRF BN Hrak 160 48000
19 B IERSR] fEV2H o1 6 Fepb 2 R B 130 48000
20 Rt el P i BUNE 2 BRI ENAERE | Bk g 90 27000
21 B Prig s Thid ] 2 R P G S N BN Hiak 60 27000
22 S TIEZ EEEEl WA X3 2 HoA it 2% A Hiak 90 27000
23 S TIEZ M A R % 3 HAAFHI = ERAERE [ EK Hrak 180 34000
24 WiyrE 2 TR SFE A i PR 22 5 HAb TP TR W 80 48000
25 KRR 2 RNAE VA4 ST 5 oAl 21 7 R g 240 48000
26 MR JEusAS i IR 3 RO TR i 80 34000




